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Question 1

The cost of fish has increased in the 1atio of 97 If the ortginal cost was R5 60 per kg, what 15 the new
price?

[1] R435
2] R720
{3 R5040
(1 R3950

Question 2

A nurse has two solutions that contamn different concentrations of a certain medication One1s a 12 5%
concentration and the other 1s a 5% concentration  How many millihtres of each should she mix to
obtamn 20 mallilitres of an 8% concentration?

(1]  4mfat 125% and 16 mf at 5%
2] 16 mf at 12 5% and 4 m¢ at 5%
3] 8 mfat125% and 12 mf at 8%
4] 12 mf at 12 5% and 8 m{ at 8%
Question 3

Six men and eight women have volunteered to serve on a commuttee How many different commitiees
can be formed containing three men and three women?

[1] 4032
(2] 3360
(3] 1120
[4) 2240

Question 4

A car dealer 1s offering any four of six special options at the same price on a specially equipped car
How many different choices of speaally equipped cars do you have?

15
[2] 30
3l 120
4 12
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Question 5

A honizontal dunking trough for cattle 15 1n the shape of a tnangular pusm It s 6 m long and the
cross-section Is in the shape of a triangle with base length 30 cin and height 20 cm What 15 the capacity
of the tank n litres?

(1
(2]
{3
4]

30 em
>

360 ltres
180 Ltres
36 hires
18 Litres

Questions 6, 7, 8§ and 9 are based on the follounng information
Suppose a company has ten employees, one earning R160000, one earming RI20000, two eerming
R60 000, one earmang R40000, and five earning R32 000

Question 6

What 1s the mean salary for the company?

{u
2}
{3
[4]

R40(:000
R36 000
R60000
R32000

Question 7

What 1s the median salary?

[
(2
3l
[4]

R40000
R36 000
R60000
R32000

Damwea A ~& O
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Question 8

What 1 the mode of the salanes?

[] R40000
[2]  R36000
(3] R60000
[4 R32000
Question 9

What 1s the standard deviation of the salanes?

[1]
2]
(3]
4)

R40 000 00
R44 621 87
R38416 55
R41583 12

Questions 10 and 11 are based on the followwng mformation:
An indez of clothing prices for 2005 based on 1998 1s to be constructed The clothing items considered

are socks and ties The wnformation for prices and quantities for both years s grven below Use 1998 as
the base pertod and 100 as the base value

Question 10

1998 2005
Item Price (P) Quantity | Price (R) Quantity
Tes {each) 75 500 85 520
Socks (pawr) 40 1200 45 1300

Determune the Laspeyres price index

[1] 989

2} 1037
3] 1129
(4] 1064

Question 11

Determine the Paasche price index

1] 989

[2] 1037
(3] 1129
[4] 1064

QMI1500

May/Jun 2017
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Question 12

Assume that  the year 2014 the Consumer Price Index (CPI) was 102 7 mn February and 110 5 n
November An employee’s wage was R20000 m February and R22 145 in November In relation to the
vatue of the rand in November, his wage has

(1]  ncreased by R2 145 00
[2]  decreased by R566 52
[3}  decreased by R395 15
4} 1ncreased by R566 52

Question 13
Sunplify (to two decimal places) 83 + log, 32

] 900
[2] 637
(3] 1800
[4] 2763

Question 14

The sum
5
>0
1=3

15 equal to

1] 25

2] 50

B 16

4} 9

Paoe 2 ~F 90
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Questions 15 and 16 are based on the followwng graphs below

Question 15
Determine the vertex of the graphs (a) and (b) respectively

{l
2]
3]
4]

(a) (3,16) and (b} (3,1)
(a) (0,7) and (b) (0,10)
(a) (=1,0) and (b) (7,0)
(a) (1,3} and (b) (0 0)

Question 16

Determune the z-intercepts of each graph

1]
2]
(3]
[4]

{
[

3,16) and (b) {3,1)

{a) (
(1,3}, (0,7) and (b) (0,10)
(
(

)
(a)
(a)
(a)

—-1,0) aund (b) (7,0)
a) (—

1,0),(7,0) and (b) none

y = f,(z)
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Questions 17 and 18 are based on the follounng wmformation

CDF Apphances has assembly plants m Umlaz and Illovo, where they produce w vanety of kitchen
applhances, mcluding a 12-cup coffee maker and a cappuccino machine At the Umlan plant, 160 of the
12-cup models and 200 of the cappuccine mechanes can be assembled every hour At the Hlovo plant, 800
of the 12-cup models and 200 of the cappuccino machines can be assembled every hour CDF Apphances
etpects orders for at least 64 000 of the [2-cup models and at least 40000 of the cappuccino machines
At each plant the number of assembly hours avalable for these two apphances is constraned by each
plant’s capacity and the need to fill the orders Let x be the number of assembly hours at the Umlaz
plant and let y be the number of assembly hours at the Illove plant

Question 17

Write the system of inequalities that describes these assembly plant constraings

1] 160z + 800y > 40000, 200z + 200y > 64000, x > 0,y > 0
(2] 160z + 800y > 64000, 200z + 200y > 40000, 2 >0,y > 0
[3] 800z + 160y > 40000, 200z + 200y > 64000, 2 >0,y > 0
[4] 800z -+ 160y > 64000, 200z + 200y > 40000, >0,y > 0

Question 18

One of the extieme pomnts of the solution space of the system of nequalities tn question 17 1s

1]  (50,150)

(2] (150,50)
(3] (100, 150)
[4] (150, 100)

Question 19

Vuyo owns a boerewors roll stand His profit sellimg boerewors rolls 15 given by the quadiatic function
= —40z% + 980z — 5331 5

where r represents the price of a boerewors roll in rands Vuyo wants to maximise hts profit  What
should the price per boerewors roll be, m order for Vuyo to maximize his profits

[1] R815

2] R2450
(3]  R1225
[4 RI1635
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Questions 20 and 21 are based on the Sfollowng wimformation

4 firm sells us product for R200 per unit The cost per unit (per month) 1s 80 + 1 where 1 represents
the number of units sold per month

Question 20

Define the maiginal profit funcsion

]  MP(z) =120 - 22
(2] MP(r)=80-2z
8] MP(r) =120z - &0
(4] MP() = 1992 — 80

Question 21

What 15 the margmal profit at a production level of 20 units?

(1 RSO
[2] R40
3] R2320
[4  R3900

Question 22

If R8000 1s mvested at 6% sunple mnterest for nine months, find the futite value of the mvestment

(1] R8240
(2] R8360
[3]  R8480
[4)  R8720

Question 23

If R5000 s invested at 6% compounded daily for five years, find the futuie value of the mvestmens
(Give vom answer to the nearest cent Make the assumption that there i1s no leap-year m this petiod )

(1]  R674929
(2]  R671958
3] R674913
[4]  R6744 25
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Question 24

You ve taken out a loan of R25000 that requircs you to make equal payments of R10 000 each at the
end of the next two years and to pay the outstanding balance at the end of the three vears The debt
and payments aie subjected to the same mterest 1ate namely, 10% per vear compounded vearlv What
15 the outstanding amount that you have to pay at the end of the thiee years?

(]  R9500
[2] RI11275
3] RI0175
[4]  R5000

Question 25

What lump sum will be needed to generate payments of R3000 at the begmmug of each quaiter tor a
peticd of five years if money 15 worth 7%, compounded quarterly?

(1] R8200395
[2] R83764 40
[3] R8523028
(4 R87774 26

Question 26

Find the lump sum that one must mvest m an annuity in order to 1ecetve R1000 at the end of each
month for tie next 16 years 1f the ammuty pavs 9%, compounded monthly

{1l R151603 71
(2] R99750 72

(3] R10157277
[4] R426410 43

Question 27

A d2amonth car loan has wonthly payments of R4t1 35 If the wterest rate 15 8 1% compounded
monthly find the unpaid balance nnmechately afrer the 24th payment,

(1} R420512
(2] RG950 13
(3] R382853
(4  R908601
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Question 28

Find the amount of each payment 1f a debt of R25000 1s to be amortised with equal quatteily payments
over six years and money 1s worth 7%, compounded quaiterly

(1] R847 14
(2]  R87372
[31  R128464
[4 R131122

Questions 29 and 30 are besed on the follounng information:

A man buys o house for R200000 He makes a R50 000 down payment and agrees fo amortise the rest
of the debt unth querterly payments over the next ten years Interest on the debt ws 18% compounded
quarierly

Question 29

What 1s the size of the quarterly payments?

(1l R6489 36
[ R663691
3] R8652 48
[4] R8849 21

Question 30

What 15 the total ammount of the payments?

(1t R346099 20
[2] R265476 40
(3] R259574 40
[4] R353968 40
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MARK READING SHEET INSTRUCTIONS

Your mark reading sheet 1s marked by computer and should therefare be filled in thoroughly and
correctly

USE ONLY AN HB PENCIL TO COMPLETE YOUR MARK READING SHEET
PLEASE DO NOT FOLD OR DAMAGE YOUR MARK READING SHEET

Consult the illustration of a mark reading sheet on the reverse of this page and follow the instructions step by
step when working on your sheet

Instruction numbers 0 to @ refer to spaces on your mark reading sheet which you should fill in as

follows

(1] Write your paper code 1n these eight squares, for instance

PISIY{1(0]0}-([X

®

The paper nvmber pertains only to first-level courses consisting of two papers

WRITE | O t 1 | forthe first paperand | 0 | 2 | for the second [f only one paper, then leave blank

Fill in your 1mitials and surname
Fill in the date of the examination

Fill in the name of the examination centre

Q0o d

WRITE the digits of your student number HORIZONTALLY (from left to right) Begmn by filling in the

first digit of your student number in the first square on the left, then fill in the other digits, each one mn a
separate square

0

[n each vertical column mark the digit that corresponds to the digit in your student number as follows
[-]

WRITE your umque paper number HORIZONTALLY

NB Your unique paper number appears at the top of your exammation paper and consists only of digits
{e g 403326)

© In each vertical column mark the digit that corresponds to the digit number 1n your umque paper

cc)

number as follows [-]

@ Question numbers | to 140 mdicate corresponding question numbers in your examination paper The

five spaces with digats ! o 5 next to each question number indicate an alternative answer to each
question The spaces of which the number correspond to the answer you have chosen for each question
and should be marked as follows {-]

’ For official use by the invigilator Do not fill 1n any information here
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: g = cover of this examination answer book and in the exam.nation instruclions
: C S Thatthe information supplied by me in this answer book 1s correct and valid
I g ™ lunderake to adhere to the procedures rules and regulations of the University of South Afnca as
: © published :n the official brachures
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